Efficiency vs P,

~ 0.1
= E : : :
£ 0.09F - e AR
> E : : :

2 0.08F--wrrrrorineeenneees Feeeeeeeeeees e
o E : : :
8] - . . .
E0.0??"""""! """""" :' """""" . """"""
o E : : :

0.0BF-++++eseeieesreenes S e

0.05;—---;-----? """""" Rt e

0.04F -+:ezeriereseneens e e

0.03F+++eeeeeesnenees b e

0.02F e o e

0.01F ;- reereeieesrenenees b e

Ratio

£0.05
[
2.045
2
$0.04

1= =
.035F -
9]

0.03
0.025
0.02
0.015
0.01
0.005

Efficiency vs ¢

R R N T
AR T | el AR TTOTE Rt
SR N

Ratio




	Contents
	Page 1


